AN 1LENINRUIVUTZUI A LA SUINETIHAZIIAINGA (51A1D19D49)

Tunisandoananendladeunasadig

1. ¥9lATINT_IATDIAANALAZTDA. 911U 19 518015 (S18AZLDEANNLLBNEITHUU)

________________ q2-2rennY SRD Rl ske AL Rl A IR LUL R IN I lal len e

PUIBIULDVBILATINNG  AINAEBLATDWIIDUNIA

________________________________ ge---1-

¥
ad v v v

5 RINANY d Wanaesn O FWasusimn  Oghey (O 35 E-Auction

2. 29RusuUsEIalasUSaass | 150,000.00 U (aailumedie/ins wa 95/60 a3 14 n.w. 60)

LY

3. Sufisvunsiainats (1Ae1eds) 3 Slunew 2560 1 Tuku 130,810.18 U

5. 38TDMNEAMUATIAINAI (51191989 NNAY _ WREINAUL. . UEUNAY

K T L e

UG :
WHAITIINU8431AINEN (39A187989) HINTNTIAINNINTUEUDTIAANUNBINAATITLLAUD

5911311 1 518 TRauaudRnssnuan s Amun

YNENMVANT VIUADY

Y]

AYIN

o

YWNANUIE DRRNAUIA

=>4

Wamihauan

avTunusene

LN

-
-2 2a 3560



MN13ININAINEN

3 S : . 31AINANS
RV 318017 AT1UIUY MUY 31A/AUW VAT 7%
(um)
1 2-way ball valve OD.1/4" 8 PCS 2,680.00 187.60 22,940.80
2 2-way ball valve OD.1/2" 1 PCS 8,790.00 615.30 9,405.30
3 ball valve OD.3/8" 2 PCS 3,775.00 264.25 8,078.50
4 Ball valve OD.1/8" 2 PCS 3,065.00 214.55 6,559.10
5 Tube seamless OD.1/4" 10 PCS 1,914.25 134.00 20,482.48
6 Tube seamless OD.1/8" 2 PCS 1,900.00 133.00 4,066.00
7 Tube support OD.1/4" 30 PCS 145.00 10.15 4,654.50
8 Weld plate fot tube OD.1/4" 30 PCS 370.00 25.90 11,877.00
9 Mounting rail 2M 2 PCS 4,210.00 294.70 9,009.40
10 Male connector OD.1/4" 10 PCS 295.00 20.65 3,156.50
11 FeMale connector OD.1/4" 10 PCS 480.00 33.60 5,136.00
12 Nut&Furrule set OD.1/4" 20 PCS 160.00 11.20 3,424.00
13 Nut&Furrule set OD.1/8" 10 PCS 175.00 12.25 1,872.50
14 Reducing union OD.1/4" 5 PCS 480.00 33.60 2,568.00
15 Union tube OD.1/4" 5 PCS 540.00 37.80 2,889.00
16 Reducing union OD.6 5 PCS 455.00 31.85 2,434.25
17 Hand tube bender OD.1/4" 1 PCS 7,480.00 523.60 8,003.60
18 Tube cutter for OD.4 1 PCS 2,270.00 158.90 2,428.90
19 Tube deburring tool ID.3/16" 1 PCS 1,705.00 119.35 1,824.35
s1nananeau (um) 130,810.18

H{WL.

L [

HAn
Y

S

YNEIVANT VIUADY

YWANMUE damAuIa

Wnhduan

anTuNUsyne

' )

2560




(%

lAFISULBLVIUAAdaTdAINIAINATdana

f6ui S1UATLAUA AU TR TILVET Material
1 2-way ball valve 0D.1/4" 8 pcs SUS316
2 2-way ball valve 0D.1/2" 1 pcs SUS316
3 Ball vale OD.3/8" 2 pcs SUS316
4 Ball vale OD.1/8" 2 pcs SUS316
5 Tube seamless 0D.1/4"x0.035"WTx6M 10 pcs SUS316
6 Tube seamless OD.1/8"x0.028"WTx6M 2 pcs SUS316
7 Tube support OD.1/4" 30 pcs Polypropylene
8 Weld plate for tube OD.1/4" to 3/8" 30 pcs SUS304
9 Mounting rail 2M 2 pcs SUS303
10 Male connector OD.1/4"x1/4"MNPT 10 pcs SUS316
11 Female connector OD.1/4"x1/4"FNPT 10 pcs SuUS316
12 Nut&Furrule set OD.1/4" 20 pcs SuUS316
13 Nut&Furrule set 0D.1/8" 10 pcs SUS316
14 Reducing union 0D.1/4"x0D.1/8" 5 pcs SuUS316
15 Union tube OD.1/4" Bored 5 pcs SUS316
16 Reducing union OD.6MMx0D.1/4" 5 pcs SUS316
17 Hand tube bender OD.1/4"x3/4"Radius 1 pcs
18 Tube cutter for OD.AMM-25MM 1 pcs
19 Tube deburring tool ID.3/16" to 1-1/2"0D. 1 pcs

B

AN gRe Juesiidag

Hinda
14/2/2017




